
120

C 35...M

�

�

�

�

�

�

�

�

�

��
�

��



�����

�


��

�


��

���

���

��
��

�

�

 


�


�

��

��

��

�

�

�

��

��

��

���� ���

�
�

��

�

����

���

�� ��

���

�


��

��
�

��
�

�
��
��
�

��
�

��
�

�
�

�
�

��

���

��

�
�

�

��
�

��
�

��
�

�
�

�
�

�
�

�
�
�

�
�

�
�

�

������

��

�����

������

�� �


P

U

UF

C 35_U

D1 D2 D3 G T S
FA 130 165 200 11 3.5 11

FB 180 215 250 14 4 14

C 35
M...FD
M...FA M...FD M...FA

AC H HF L AD LF R AD R AD

C 35 2/3 S1 M1S 138 184 177 457 108 20 520 20 103 132 124 108

C 35 2/3 S1 M1L 138 184 177 481 108 20 542 21 103 132 124 108

C 35 2/3 S2 M2S 156 193 186 509 119 23 580 27 129 143 134 119

C 35 2/3 S3 M3S 195 212.5 205.5 553 142 28 649 33 160 155 160 142

C 35 2/3 S3 M3L 195 212.5 205.5 585 142 37 676 42 160 155 160 142

C 35 4 S05 M05 121 175.5 168.5 509.5 95 19 575.5 20 96 119 116 95

C 35 4 S1 M1S 138 184 177 514.5 108 21 577.5 21 103 132 124 108

C 35 4 S1 M1L 138 184 177 538.5 108 21 599.5 22 103 132 124 108

C 35 4 S2 M2S 156 193 186 566.5 119 24 637.5 28 129 143 134 119

C 35 4 S3 M3S 195 212.5 205.5 610.5 142 29 706.5 34 160 155 160 142

C 35 4 S3 M3L 195 212.5 205.5 642.5 142 38 733.5 43 160 155 160 142



121

C 35...P(IEC)

C 35_U

D1 D2 D3 G T S
FA 130 165 200 11 3.5 11

FB 180 215 250 14 4 14

�
�

�$

�

� �

!

!

!

"�

"�

"�

#

�
�

�$

�

� �

�
�

�$

�

� �

��
�

��



�����

�


�


��

���

���
��

��

�

�

 


�


�

��

��

��

���� ���

�
�

��

�

����

���

�� ��

���

�


��
�

��
�

�
��
��
�

��
�

��
�

�
�

�
�

��

���

�
�

�

��
�

��
�

��
�

#

#

������

��

�����

������

�� �


�����

"

"�

"�

�� ��

�
�

� %�

"�

���

������

P

U

UF

C 35 BN... BN...FD
BN...FA

M M1 M2 N N1 N2 N3 N4 X P LB AC LB AC

C 35 2/3 P63 11 12.8 4 140 115 95 — M8x19 4 326 17 BN 63 184 121 249 121

C 35 2/3 P71 14 16.3 5 160 130 110 — M8x16 4.5 326 17 BN 71 219 138 280 138

C 35 2/3 P80 19 21.8 6 200 165 130 — M10x12 4 345.5 18 BN 80 234 156 306 156

C 35 2/3 P90 24 27.3 8 200 165 130 — M10x12 4 345.5 18 BN 90 276 176 359 176

C 35 2/3 P100 28 31.3 8 250 215 180 — M12x16 4.5 355.5 22 BN 100 307 195 398 195

C 35 2/3 P112 28 31.3 8 250 215 180 — M12x16 4.5 355.5 22 BN 112 325 219 424 219

C 35 4 P63 11 12.8 4 140 115 95 — M8x19 4 383.5 20 BN 63 184 121 249 121

C 35 4 P71 14 16.3 5 160 130 110 — M8x16 4.5 383.5 20 BN 71 219 138 280 138

C 35 4 P80 19 21.8 6 200 165 130 — M10x12 4 403 21 BN 80 234 156 306 156

C 35 4 P90 24 27.3 8 200 165 130 — M10x12 4 403 21 BN 90 276 176 359 176

C 35 4 P100 28 31.3 8 250 215 180 — M12x16 4.5 413 25 BN 100 307 195 398 195

C 35 4 P112 28 31.3 8 250 215 180 — M12x16 4.5 413 25 BN 112 325 219 424 219



122

C 35...HS

C 35_U

D1 D2 D3 G T S
FA 130 165 200 11 3.5 11

FB 180 215 250 14 4 14

�
�


�
�


�
�


��

��

��

��

��

��

%

%

%

$

$

$

�

�

�

��
�

��



�����

�


�


��

���

���

��
��

�

�

 


�


�

��

��

��

�� ���

�
�

��

�

����

���

�� ��

���

�


��
�

��
�

�
��
��
�

��
�

��
�

�
�

�
�

��

���

�
�

�

��
�

��
�

��
�

������

��

�����

������

�� �


�����

�
�

�����

&

���


P

U

UF

C 35

A B E F F1 F2 F3 F4 V

C 35 2

HS

415.5 295.5 50 24 27 8 2.5 45 M8x19 25.5

C 35 3 415.5 295.5 50 24 27 8 2.5 45 M8x19 25.5

C 35 4 390.5 280.5 40 16 18 5 2.5 36 M6x16 26.5


